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1+ private employment, Sexyices.agency (56%)
9~ minimum wage £a%)

3~ industrial action (5%)

4~ sexual harassment (5%)

5+ parental leave allowance (5%)
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— ~  (25%) What is the definition of labor force? What economic factors determine whether a person
participates in the labor force? Why did the labor force participation rate of women increase so much in

the past century?

— - (25%) Suppose the wage increases. Show that in the long run the firm will hire fewer workers.
Decompose the employment change into substitution and scale effects.

=+ (25%) Show how education can signal the worker’s innate ability in the labor market. What is a

pooled equilibrium? What is a perfectly sgpdrating.signahing equilibrium?

PO~ (25%) What is statistical discrimination? Why do employersiuse group membership as an indicator of

a worker’s productivity?
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1~ private employment Services agency (5%6)
2~  minimum wage (5%)

3+ industrial action (9%)

4~ sexual harassment (5%)

5+ parental leave allowance (5%)
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— ~  (25%) What is the definition of labor force? What economic factors determine whether a person
participates in the labor force? Why did the labor force participation rate of women increase so much in
the past century?

— - (25%) Suppose the wage increases. Show that in the long run the firm will hire fewer workers.

Decompose the employment change into substitution and scale effects.

1]

(25%) Show how education can signal the worker’s innate ability in the labor market. What is a

pooled equilibrium? What is a perfectly sepafating sigialing equilibrium?

PO~ (25%) What is statistical discrimination? Why do employérs‘use group membership as an indicator of

a worker’s productivity?
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